
Poppy - Beret
No. 2030-211-9191

Sizes: 3-6 (9-12) months, 2-3 (4-5) years

Head circumference: 14.6-16.1’’
(17.3-18.5’’) 18.9-19.7’’ (20.5-21.3’’) / 37-41
(44-47) 48-50 (52-54) cm
Circular needles: US 1.5 (2.5 mm) and US
4 (3.5 mm) / 23.6’’ (60 cm).
Double pointed needles: US 1.5 (2.5 mm)
and US 4 (3.5 mm)

Accessories: 5 stitch markers

Gauge: 25 sts x 34-35 rnds in stockinette
stitch with needle US 4 (3.5 mm) = 4’’ (10 cm)

NB: Make a swatch to be sure to get the right
gauge. Change to a larger or smaller needle
size if necessary. It is also advisable to
measure the gauge during the work.

Yarn: Rainbow Cotton 8/4
Light Lime (#017) - 1 (1) 1 (1) skein
Dusty Lime (#074) - 1 (1) 2 (2) skein(s)

Buy the yarn here:
http://shop.hobbii.com/poppy-beret
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ELABORATIONS

Inc 1 st = Pick up the bar between 2 sts and k it through the back loop (tbl).
Stockinette stitch in the round = k all sts on all rnds.

ABBREVIATIONS

p = purl
dec = decrease
dec rnd = round with decreases
st(s) = stitch(es)
k = knit
circ needle = circular needle
st st = stockinette stitch
k2tog = knit 2 sts together
dpn = double pointed needles
rnd(s) = round(s)

With circ needle or dpn US 1.5 (2.5 mm) and col 1 (Light Lime 017), co 114 (118) 124 (130) sts.
If you use dpn, distribute the sts evenly on the 4 needles. Place a marker at the beginning of the
rnd. Work approx 1-1.2’’ (2.5-3 cm) in rib (k1, p1). On the last rnd, adjust the number of sts to
115 (120) 125 (130) sts. Change to circ needle or dpn US 4 (3.5 mm) and col 2 (Dusty Lime
074). Work st st in the round.

NB: On the first rnd of st st, place 5 markers like this: Place the first marker at the beginning of
the rnd and the remaining 4 markers with an interval of 23 (24) 25 (26) sts. On the next rnd, inc
by 1 st to the left of each marker. Repeat the increases on the next rnd and then on every other
rnd a total of 5 (6) 6 (6) times = 150 (160) 165 (170) sts. On the next 12 rnds, work pattern
according to the chart.

NB: Since the number of sts does not match the pattern, you need to increase or decrease on
the first rnd to reach 150 (162) 168 (168) sts on the needle. After working the pattern, adjust the
number of sts back to 150 (160) 165 (170) sts. When the work measures approx 3’’ (3.1’’) 3.3’’
(3.3’’) / 7.5 (8) 8.5 (8.5) cm, decrease on the next rnd like this: Dec 1 st (= k2tog) to the left of
the first marker and then on each side of each marker. End with a dec before the first marker at
the end of the rnd. For every dec rnd, you have 10 sts less on the needle. Repeat the decreases
on every other rnd another 11 (10) 9 (9) times and then on every 4th rnd another 0 (1) 2 (2)
time(s). You now have 30 (40) 45 (50) sts on the needle. On the next rnd, k2tog throughout the
rnd. Break the yarn and pull the thread through the remaining sts. Tighten and weave in the
ends.
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Pompom: Make a thick pompom with col 1 with a diameter of approx 1.2-1.6’’ (3-4 cm). Stitch
the pompom onto the top of the beret.
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CHART
The chart shows all rnds.
When you work in the flat: first row = RS.
Start at the arrow “Begin here” and repeat the pattern repeat X-X.
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Happy knitting!
Sanna Mård Castman - Soolorado
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